. l l I m E n Gas Spring Aluminum LCD Monitor Desk Mounts

Installation

WARNING STATEMENTS

Warning

Prior to the installation of this product, the installation instruction
must be read and completely understood. Failure to do so may
result in personal injury, property damage or voiding of factory
warranty.

Do not install on a structure that is prone to vibration, movement
or chance of impact. Reinforce the structure as required before
installation. Don't use the product on particle board.

Confirm the desk edge before installation.

A The desk clamp can support a maximum thickness of 8.5 cm.

Pay attention to the weight capacity of the mount. Exceeding the
limitation can result in function unworkable or even serious
personal injury and property damage.

A Never operate the mount if parts are missing or damaged.
Contact your local service center for warranty service.

PRODUCT LINE GRAPH

Wb 024 L/WUIQLG~08)

Max.660mm/26.0"

TOOLS REQUIRED NOT INCLUDED

TSR +" RS54 )\—
@ BRCHEBRUTTEWL

PARTS INCLUDED B &
A ~0 g y
Mdx12 (x4) M4x30 (x4) 12X5.8X16 (x4)

Screws Screws Spacer

S5=3mm (x1) Allen key S=5mm (x1) Allen key
:

M4x10 (x1)
L Cable (x1) Screws

Desk Clamp Installation DSSYTEESE
& BNEIROBA

. Desk [ 115-60 mm
\ Measure the thickness of the table
If 15-60 mm, install directly.

Loosen clamp screw until enough space is left for the edge of the desk.
Tighten clamp using clamp screw until mount is securely fastened to desk.

EWXRDES | o

y Allen k
X5 Desk [ 60-85 mm r—

Adjust the Desk Clamp holes if
Desktop is thicker than 60 mm.

(b €:xen)
WwGgg:xepn

Loosen clamp screw until enough space is left for the edge of the desk.
Tighten clamp using clamp screw until mount is securely fastened to desk.

Arm Installation

O P—LEISSTHICEAH p—

Allen key
STz

GEAE

Install the arm to the base and fasten the screw in the back.

Monitor Installation

Ty
o For Flat Screen Monitors Max12 (x4)

Screws

-

Flat Screen Monitors installation: Install 4 screws through faceplate to
monitor via mounting holes.

@ For Curved Monitors M4x30 (x;4,

Screws

A
8

12X5.8X16 (x4)
Spacer

BEMARE=S—0BA
\_ ZN)#—EZ‘{EHTEL\/

Curved Monitors installation: Put 4 spacers between faceplate and monitor.
Install 4 screws through faceplate, spacers to monitor via mounting holes.

@

M4x10 (x1)
Screws

Insert the monitor along with the VESA plate to the arm and lock it.

Gas Spring Tension Adjustment {RIFHODRAE

S=5mm
Allen key

o Horizontal {%ﬁb ﬁg(7-k$ﬂ#) ﬁ

y
b
xdl

iy

Press down the
arm to a horizontal
position

Be sure to keep the arm in horizontal
& position during adjustment. Or else, it

would be difficult to adjust the mount.

=g 1turn = 1 Ibs = 0.4kg

NOTE: Turn clockwise to reduce
tension for lighter monitors and
counter-clockwise to increase
tension for heavier monitors.

A

Use a hex wrench to adjust the height tension of the gas spring arm, to
keep different weight of monitors still at any position.

Tilt & Swivel Adjustment =4 —fEDIHEE

%

S=5mm
Allen key

VESA Swivel
Adjustment

VESATIilt
Adjustment

Use a hex wrench to adjust the damp for swiveling and tilt.
Turn counter-clockwise to reduce damping and clockwise to increase damping.

Cable Management Installation 4 —2J" JLUNEA

Remove the cable cover from extension arm. Route the cables along the
arms and put on the cable cover.

Use Lights LEDS A MNRERS—IT)I

O BE=

R o
Use USB cable for LED backlight embellishment.




